T8 m

A4V 7VRZERBAVZIMRAV

A/21€7711V32
10 um & 25 um D 2 BED 71 )LATERED
S1EIRATEE,
EBS5MmN AR THERA 350 bar (35 MPa)
FTTAIV A
OAOAVINTNEA V54 VRS> TRAD
FEUE
KR\ T PR BERRE,
ATV ADARETHI I =T T 1)
AN AT BE,
BARE 11.31/ 9,
=ABERE 93°C,

FILTER C ! A

NOM I NAL !

PORT B
OF

~ = 0~ = 20
A4 7411V 3 ujo 17-0048-80 |
ETIVES L7-0048-80 L7-0048-81 a /
A G 1/4 G 1/4 o 15
B G 1/4 G 1/4 =
ij o Ce e £ | ’
i
E 212?2 212?2 3 | 7-00as-81
F 18.8 18.8 T s v ]
G 25.4 254
/
H 11.9 11.9 //
0 ///
0 2 4 6 8 [0 |2
FLOW (LPM)
Bﬁﬁ:yagl.;ﬁ,fyl. ILMLT0000 REV B
OB RAVME &

IMREANLERICEST
‘ Rc 46-50 |ch1T

PR

fa— [ —

HEX
D
ILML40001 REV A
~ Q ~
BREmIR2IbRAb

ETIVES L4-2106-00 L4-2108-00 L4-2110-00 L4-2112-00 L4-2116-00 L4-2120-00
A M6 X 1.00 M8 X 1.25 M10 X 1.5 M12 X 1.75 M16 X 2 M20 X 2.5

B 9 10 12 15 20 25

C 8 8 10 10 10 10

® D 17 18 22 25 30 35

E 10 13 17 19 24 30

F 12 16 22 25 50 60

\

© Vektek 2016 & 10 B +1-913-365-1045

www.vektek.com








